—k R

bxbry* tix- € = G(xe3)x-3)[x%xr 2)
= 4le- 1Yo 3)k- (2483

¢ 01 -1 -6 (weel €) e V.
yl422-10 -u D> -* 04300
AGe22-12 0
3
Z

‘4980 ol

%
It xStf= Kaxiy-

= X(X’-!XM 2
- “r © 1-N -6 _ = k(x-q)[x!‘x* Z\

3 13-8:06



I RE

(x- 1) (%% $x 1 5+

ol WW{’V o e,

3 13-8:22




fortosle

K Y w<f
. % :
K’-llx34 lx"ﬂ('ff = lxzfaxfﬁ-)/X'? 061‘(’}
oo Aol 1 o) brdnq ) Are ol 2
XK ¢ C"‘.tl 2C"Z“/~(
x*: Ao teded o fe:2 14 og = Dovecr]
‘:' s oeel "I/ a4¢>7
K atesl LX) asest

J
ra
)('* 2t bS] < ()cz‘t xc?.)

3 13-8:28



s(x':hf‘w - x4 ¥x-F 0 {x~1)(x"-1,,3~ - (x-'S)

(3 2-2 -5
10'15‘54 )
Nt | 30
! Y
il oS5 ¢ «wAg
‘I’l p?F >0
u%um,*x 2% Su™ 4&*9%%&- lwy

; Mu;r&.«. bvo-l
m = §xZ 6y 10k-§
2 x* -Ipulaz-sn(? Iv™ 3% Su- 2= x-1
o (e 7= 234 (%% )
~)C+4 10)3-1)( /4 ?X-?x-‘ 14

(2 - 5 4 2

3 13-8:36



DO-BdTx=2: ¥ Sx12 = 2x -
1,’-2&"*9:(

-x'rx-2

”"’?;.‘;3“1 jir 2 Ol *“"“‘?’

| 3) o (2’

/Kl' l)(-f.Sg 5215)_ {X
= (- xe)”

Pflc)- (\( )(x*xrz)
= len(x-(#- g (x-(4-89)

3 13-8:45




A B

a 6 [AaB)v (B AC)v (k]

&.__..}.__i’_— A

b8 | @r— A
(A/\B)

3 13-9:05



(A B1C) v (# a8ac)

(ABu € < (AnBrc)v (4 8aC) v
— v(hBal) v (FnBac]V
(ArBac) v (44 880)
= [A1Ba)v (A484C)v(A 2B1C
[E—Q«_Ew)v{mgc

TG & £ | Fe (B C)A,A"C)A-d‘
0710 s (Bac)a [(rvk)wg).
1| 0 - (B2¢)1 (a'sc’)uB)

1 ' ' .
o_,___:F - = (AaBA v (448ac)
i e A (R0
e e

3 13-9:16




w(‘r-le,\- A1 Ao
(K, £) ~ [k a ] ettt e~
b & Al
a A= wa/a,,ﬁ’)
Uidsy dorwe (K, 0) § fortiore Lpbra. -
[‘(,/\,V( 0,'1| ' )
Yy S .
N 3 Jév[kael-
ot g s LS
~— -
F o R
{“‘JJA'M A.A“rvc.)tga V(Hd Y4

{3

3 13-9:31



3 13-9:43




	Stránka 1
	Stránka 2
	Stránka 3
	Stránka 4
	Stránka 5
	Stránka 6
	Stránka 7
	Stránka 8
	Stránka 9

